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SECTION A
Answer ALL questions. Write your answers in the spaces provided.

In Section A put a cross in one box X to indicate your answer. If you change your mind,
put a line through the box £ and then put a cross in another box X

What is the name of this shape?
@Uﬂdr‘”ﬁ terq| — 4 Sidder,

sidlas — (epragon
sides - Oc_.l.aaon

Hexagon Octagon Quadnlateral Pentagon

= [ £ O

(Total for Question 1 is 1 mark)

2

Which word best describes this set of numbers?
7 13 25 39 43
Odd Even Square Prime
O O O

(Total for Question 2 is 1 mark)
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2kg
l

- |3 Whatis th f these weights?
: at is the range of these weights = \R¥g - 2Ky - \pus

Tkg

Qanﬁe—; k—\'l.j\nu?h(\c\if — lLowesk mats

6kg 2kg 12kg 7Tkg S5kg

Tkg 10kg 12kg

(Total for Question 3 is 1 mark)

Triangles = 5

Total Shapes = 12

- A

0 wi-

5 "‘-;.;1_ 4 What fraction of these shapes are triangles?

}:{aCkﬂb'ﬁ jj T?u;nfllﬂj =

iy

O O

£l 7 3
12 12 7
B [ E3 seabiE

(Total for Question 4 is 1 mark)

|5 Whatis the value of the 8 in this number?

7824

gxlo0 = 820
30 800 8000

(Total for Question 5 is 1 mark)
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6 Work out

B vackets
04

b'“[ l's\‘oV\

KJ‘A\-‘\":"“

,su\or\w-ﬂ";’" )

12-6+3 12-&6+3

c+3 - 2
\&v~-2

M ulrphearn e - Y0

9 10 14
(| O = L]

(Total for Question 6 is 1 mark)

7 Work out

2o
%

30% of 120

4

12 25 36 40
O O bl O

(Total for Question 7 is 1 mark)

8 What is 68481 rounded to the nearest thousand?

(€ thousanodl cConciler H
— hundred 0‘[3(&"

’
g1
6 €8l ggooo
60000 68000 69 000 70000

& (] O

(Total for Question 8 is 1 mark)
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- | 9 Here is a sorting table. (& 5 Bvan numbel

v ne ruthple
Ax=3 Odd Even -&_3 )
2x2=6

3x3 =9 Multiple of 3 A B
3x4=2
23xs =15 Not a multiple C

1x6 =14 of 3

Which cell would 16 be in?

e
-
R
)
%
£
§ 3
o
D

(Total for Question 9 is 1 mark)

| 10 What is the area of this triangle? Amz L A Loua X L\R!.B‘\""
2

Diagram NOT
accurately drawn

3cm

8cm

11 em? 12¢cm? 22 cm? 24¢m?

O b O [l ——

(Total for Question 10 is 1 mark)
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11 The rule for this number sequence is

10 24 52 108

What is the missing number in this sequence?

3 4 6

&K O |

add 2 to the number then double 2 (:C ~+ 2) = 10
2x+4=10

2% = b=k

Lx = &

z

X =

ol

22

[

(Total for Question 11 is 1 mark)

12 In a shop a pen costs $1.39 and a pencil costs $0.45

How much would it cost to buy one pen and two pencils?

Two ?Q.nu.\s (oed = O’ 5 X2 + 1«59
= 69 0r9po°
e 2 .29

$1.84 $2.29 $3.23

t M [

Ong Pen Cosks  1-39 Toral Gast = (39 +0:9
= 2,'2-“51

$3.68

|

(Total for Question 12 is 1 mark)
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(Total for Question 14 is 1 mark)

\
13 Which of these numbers is a multiple of both 3 and 8? gx2=16
_ EXlL= 32
X1 =3
T2 —
;:2- 24 zx2= 6 gx s> 42
UYL ex6 = 48
5; .5 a—
N 34\"03 30 3‘6- ‘t
x> 33 il
: 3x 1= Ed 11 12 39 48
:‘,::f‘:':, ix 16 '-;,ig
: & O O
7 - 7 (Total for Question 13 is 1 mark)
CoorAwate ¢ ’
14 - 'A ak °,§, awy ?cw\\— Gra S\VQV\ \wkevnn ¢
4, 9)
Y
5 G 5)
4 Lt
3
T
2
1
2
~& ~4 =3 -3 -] @ 2 4 5 x
|
~2
el
—4
~5
Which one of these best describe point T?
x=3 2,3) y=2 3.2)
O £ O b4

)
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15 On Monday afternoon Sanjay looked at the time on his classroom clock.

Here is what he saw.

How would the time on this clock be shown on a 24-hour digital clock?

01:15 03:05 13:15

(] O X

Tiva = \+18%w

o Converd *o 2ua—\our
A;g'\-xq\ Cloewe  aad \2| =

(s
{20 O

| B\

15:05
O

(Total for Question 15 is 1 mark)

16 Simplify this expression.

Coter e e s gl
3{ 420~ 2 ,F -+ Q

3{—*; — 2 + £
£ +32
f+e 3fe f+3e

O O X

S5+ 3e

O

(Total for Question 16 is 1 mark)
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17 Here is an equilateral triangle.

1 3 180 360

X | X O O

(Total for Question 17 is 1 mark)

- | 18 120 children each choose a favourite sport.

o -
The results are shown in the pie chart below. A0 > Cvicket

Cricket l\]um\,._e 0}‘ (‘_\I-\\\A\'Q.r\

Football

O‘Pft chart 1 3¢5, -

i_g.xl—jlp‘ =30

Swimming A

Hockey (

Running

How many children chose cricket?

24 30 60 90

O X O t

(Total for Question 18 is 1 mark)
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19 Work out

kema = 2x7

- 1t

Ry

13

14
O

&
[0 =lw

(Total for Question 19 is 1 mark)

20 Work out

9 Q 45% of 160

T2
-FOP 5

§
b )
&
=
)\

16 24 64 72
3 1 ®

(Total for Question 20 is 1 mark)

TOTAL FOR SECTION A IS 20 MARKS
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SECTION B
Answer ALL questions.
21 Work out

!
2HT
(a) 247 + 328 +52 2

575

(b) 23471 — 1280 2347/
=~ 180

22,191 22,19

I iad S T e

(Total for Question 21 is 2 marks)

"1 22 Join the equivalent fractions, decimals and percentages.

One has been done for you.

(/xwo = 100

* s 10
— 35'1‘, : / |

5 |3oh = 59

2|
——
o

lop
s 0.75 5%
12 _ o075
/oo 1
y 40%
30% - TT5%
3.0

(Total for Question 22 is 2 marks)
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23 This tally chart shows the favourite colours of the students in Jai’s class.

Red ||l 4
vellow | WH HH 0
Green 3
Blue 6
Purple [

(a) Complete the tally chart.

(b) Use the information from the tally chart to complete this pie chart.

Favourite colours

’220‘ ,,Cz a’ad“""“) _

Yollow =+ 5 secken

Zaian iy —‘Ji‘gzd‘“l

purt)e —~ L seon=

- X

(3)

(Total for Question 23 is 5 marks)

12

P 6 76 2 9 A0 1 2 2 4




S A pY Lenny has $180

He shares it with his brother in the ratio 2: 1

Lenny gets the most money. | 20
How much money does Lenny get? 3 ‘ % %0
Tz : 06O
(64l vTatic = 2+| -0
F—. 5 p—
= —

Loany = 2 x18 = 260 =120
3 2

I—D-N'\"i Lrotar — —éxl&o = ‘.3;‘? § 120
= Go

—  (Total for Question 24 is 2 marks)
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Point Q has been plotted on this grid.

[a—

—~
<
ot

EI—s

(a) Translate point Q by 2 squares right and 3 squares down.

What are its new coordinates?

(b) On the grid, plot point R with the coordinates (—2, —5).

T P\V\' \CQB\‘V\ wiwk X 2 J @‘ma\vo,)f":! 1
(Total for Question 25 is 2 marks)

(1)

P 6 7 6 2 9 A 0 1 4 2 4
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2 | 26 Here is a triangle inside a rectangle.
Diagram NOT
accurately drawn
s
QD -P;S ""'—:‘8”
12 g ¥C~ \ D
- (-]
Work out the size of each of the labelled angles. ‘ c=- 55
'}’W\s\a_\ A a S Av a\'?)\,\-\—- \\ne .
. a=_ A0
add ug As  \%6. .
La s = 1806 il
= |1R0~5
== b= 35
L= 25
— (1)
<
Angq\a a =<9A0 s vmta A avsS\LL
. ; o _ &5
v o vaddanaia (& Ao . C=.... l
s : \ =] ( }‘
ang\as ‘o a ranale add XN o 1%
Ao +35+< = ‘RO (Total for Question 26 is 3 marks)
| 1 27 Calculate
2301 x 27
You must show your working. 2z 0!
3 |
16107
46020
¢ 2,, 21
62127
(Total for Question 27 is 2 marks)
S y
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28 (a) Expand

5 (3 +y) G0
Ex 3 + &xY

15X + 5y
—_ e T

(b) Solve the equation

L +6=22 4x+6=22

e = B2=C o
.H_x = l-é """
==X (1)

(¢) Find the value of the expression

9)
=
4
0

e

Ja—4b+c
when ¢=5,b=3andc=7
&u\os\:\w W a\uas A\Van
Za-kb +C
z(<) - 4B T
|s —'\2 4+

(ra+1)-'? "

- (Total for Question 28 is 4 marks)

16
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29 (a) Reflect the shape on the grid in the mirror line.

mirror line
‘|
(hH
(b) What is the volume of this cuboid?
Diagram NOT
accurately drawn
6cm
- @ x K X 3
— &2 C.m}

,,,,,,,,,,,,,,,,,,,,,,, '72 cm?

(2)

(Total for Question 29 is 3 marks)
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30 Wriite these numbers in order of size.

Start with the smallest.

4.04 04 0.04 0.44

0.04 G- Ony 4o

smallest

(Fotal for Question 30 is 1 mark)

31 (a) Write this improper fraction as a mixed number fraction.

4 14
I = al iy E}
3 12,

2

i
+F u
(MY
i
Wl

(b) Write this mixed number fraction as an improper fraction.

5
o Jt
8

—

]
= le+s 21
- 2\
"y (1)

(Total for Question 31 is 2 marks)
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i - | 32 Saira’s English group did a spelling test.

Here are their results.

13 9 10 13 12 7 13

(a) What is the median of these results? ) .
Awanje tha Aatx 10 ordler thDm 2ralles e La 3‘2’3“'

(b) What is the mean of these results?

Mean = M 01

Ya suits . 01 _
Numlam O(f o © ”

= 13 49 +lo 13 +12+7H3
o & AT

= on == LR (Total for Question 32 is 2 marks)

,{.,”,

33 Calculate
3168 ~ 18

You must show your working.

|16

'Q’W

T’ée\(
RLLAL
| 0
10K

oOO

(Total for Question 33 is 2 marks)

19




34 Here is a circle with the centre marked.

D“amﬂ“”’

(a) Draw and label the diameter on the circle.
(1

(b) How long is the radius of this circle?

(1)

(Total for Question 34 is 2 marks)

35 Meclinda is 168 .4 cm tall. .
Mchnda Siche = OHm

\WA = |00 &M _-—
Their brother is 75% of Melinda’s height. ok= 7. O{pR\eC = p 1t

Her sister 1s 0.4 m shorter than she 1s.

(a) How tall is Melinda’s sister?

12 &40 4 [Bosa &
(b) How tall is Melinda’s brother?

45 3 lg
I5 k1634 = —3s
iod

e 't 12603

—— m—

g A (Total for Question 35 is 3 marks)

e CII

0
o
Lo

- 40°0° - — 1263 et R cm | -

20
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DO NOTWRITE IN THIS AREA

AREA

SN

-
36 Sadio needs to buy
1 Pineapple
6 Strawberries
3 Oranges
Pineapple Strawberries Oranges
$3.25 each $0.45 each $1.69 each
He has $11
Does he have enough money to buy the fruit?
You must show your working.
| ?mp_a?\e\,o_ = 3325
¢ ckraw L\cmt(u = (O'"cs Xé) = 270
5
X ’(-6
/
- Q.70
an o =<1
2, Oranges = 16qx3 = 5e
| 69 - 5.07 NO} cha does not havx
¥ 2 2n oua\\ Monﬂ . —{L\Q £
-
(o]
50 7 = 5-07 %O-OR [oss [han (k=
‘ ""D"‘\‘ CQS“" {;\M’f‘ *
—fotal eut= 325 H
KT0
T -
.02
(T(‘tal for Question 36 is 3 marks)
TOTAL FOR SECTION B IS 40 MARKS
TOTAL FOR PAPER IS 60 MARKS
J

B
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